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HERe—2 BEYI_ AT BTSN SHRICEHT HZRIEBEA/) | dAzEE [ 7ukasi/E
AlEsborE | #HmES 08681001 |  EfFs | HF | Rt A RS AL P LA
SERMO TiRICHET 51 H# SEMHEA
;ﬁgg TEEOBHDESLADKES TEEDHBEESENDRES TEZEOBHOESLADKRES TREOEBESLIDKRES
S 100kN/m#%825| - - o~ - - ImEBAB| - ~ - - - 100kN/m#%#825%| - -~ - - 3ImEEZS| - ~ - - -
Zzh st 1.00| 000~ 749 9572 TS | o000~ 749 193 9.76 Zn st 1.00| 500~ 1157 9572 TS | 500~ 1157 193 9.76
, 100kN/m%E#Z 5| 1L0oo| 0oo~ o011 101.68|3ImERBZB| - ~ - - - 100kN/M%E#8%x5| 100| 1154~ 1193 101.68|3mEREZB| - ~ - - -
zhst 100 011~ 790 100.00 Fh Lot 000~ 790 200 10.08 zTh st 100| 500~ 1154 10000 TS | 500~ 1193 200 10.08
; 100kN/m#=8B25| - - o~ - - 3SmEBAB| - ~ - - - 100kN/m#=8B25%| - - o~ - - ImEBAL| - ~ - - -
ZThish 100l o000~ 677 8559 FRLASL | 000~ oo0o| 162 817 ZhLsh 1o0| 500~ 877 8559 FRLSN | 500~ 877 162 817
p 100kN/m#B25| - - o~ - - 3ImEBRB| - ~ - - - 100kN/m%#B25| - - o~ - - 3mEHBAS| - ~ - - -
Zzh st 100l o000~ 761 9745 FhLASL | ooo~ 761 204 10.32 Zhn st 100l 500~ 1055 9745 TSN | 500~ 1055 204 10.532
5 100kN/m%HBZ 5| L0oo| 0oo~ 335 153.77|3mEHBZS| 000~ 199 386 19.49| 100kN/mM%#8% % | 100| 1076 ~ 79.77 153.77|3mERBZ S| 3000~ 79.77| 386 19.49
Zzh st ool 335~ 1113 10000 TS | 199~ 1113 300 1516 Zhn st 100 500~ 1076 10000 TN | 500~ 35000 300 1516
p 100kN/m%E#BZ 5| 100| 0oo~ 403 166.03|3mERBZB| 000~ 242 418 21.12| 100kN/M%EBZ 5| 100| 1063~ 8000 166.03|3mERBZ S| 2500 ~ s0.00| 418 2112
Zh st 100 403~ 1182 100,00 TS | 242~ 1182 300 1516 ZFhLst L00| 500~ 1063 100.00] TS | 500~ 2500 300 1516
; 100kN/ Mm%z 5| 100 000~ 409 167.09|3mERBAD| ooo~ 250 425 21.48| 100kN/mM%E#BZ 5| 100| 1077 ~ 79.02 167.09|3mERBAD | 25.00 ~ 79.02| 425 21.48
Thist 100 409~ 1188 10000 TS | 250~ 1188 300 1516 Fhsn 1.00| 500~ 1077 100.00| FNUS | 500~ 25000 3200 1516
s 100kN/m%E#Bz5| 100 000~ 401 165.63|3m&ERBZ S| 000~ 240 416 21.04| 100kN/m%#BZ % 1.00| 1061~ 7558 165.63|3mERBZ S| 2500 ~ 7568 416 21.04
zhst 100| 401~ 1180 10000 TS | 2420~ 1180 300 1516 zTh st 100| 500~ 1061 10000 TS | 500~ 2500 300 15,16
p 100kN/mM%E#Z 5| 100 000~ 400 165.35|3mEBAD| ooo~ 239 415 2098| 100kN/M%E#BZ 5| 100 1060~ 7400 16535|3mERBA D | 2500 ~ 7400 415 20.98
Zzh st 100| 400~ 1178 100.00] TS | 289~ 1178 300 1516 znust 100| 500~ 1060 100.00] TSN | 500~ 2500 300 15.16
100kN/ Mm% % 3% ~ 3mEERD ~ 100kN/ Mm% %5 ~ 3mEHEZS ~
zh st ~ zhos ~ zhLst ~ zh st ~
100kN/m%#B% % ~ 3mEERD . 100kN/m% 8% 3% o ImEB25 ~
Thist ~ Thilst ~ Th st ~ Thist ~
100kN/m% 8% 3% ~ 3mEHERD - 100kN/m%#BZ5 ~ ImEHZD ~
Thist ~ Thilst ~ TnLst ~ Thilst ~
100kN/m% B2 5% ~ SmEHEZD ~ 100kN/m% B2 5% ~ 3mEHEZS ~
zh st ~ Ths ~ zh st ~ zhost ~
100kN/ Mm% %3 ~ 3mEERD ~ 100kN/ Mm% %3 ~ 3mEHEZS ~
Thist ~ Zhist ~ FnLst ~ Thst ~
100kN/m% 8% 3% ~ 3mEHERD - 100kN/m% 8% 3% ~ ImEB25 ~
Th st ~ Thilst ~ zhust ~ Th st ~




